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1) The method used in memorizing poetry is called:/ Hfqdr o1 qlq A A UYgdd faftr =1
CaJREIGIET

1. Massed learning / a?; YA 9T 31T
2. Distributed learning / facier fRver

3. Serial memorization / ShfHeh JEHAIOT

4. Paired Associate learning / ?élj?ﬂa' Wﬂ' iR

Correct Answer :-

¢ Serial memorization / 9hlrd\-|°h {-i{-rH{UI

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that AL
groerarardt uReerHT ' ®  weiga fayTRial &1 9k § fF

1. Language determines perception / 3TTST aTeT &Y TR ST &1

2. Language determines thought / {TST fa9R & fAeTRT T &1

3. Language influences memory / HTST THIOT rfFd &l T Xl g |
4. Language influences thought / Wﬁﬂﬂaﬁqaqﬁﬁaﬂ?ﬂ'%l

Correct Answer :-

« Language determines thought / 31TST fa=T &r faeTRa AT &1

3) You are helping a mother to develop a behavioral program to deal with her son Raj who has
oppositional defiant disorder. Which of the following is the MOST significant component of this
program?

/ 39 TP AT B U 92 I A FAueq & e ver sqasR srdwpd faafa s A ugg ;W §,
IS B IR fethe fewans 31 fRufaf@a # @ 19 91 39 FrieH &1 9ad Agayul yedh
?

1. Strict parenting / ¥%d TR



2. Detention / TRy
3. Positive reinforcement / HhRTcHR WUT
4. Punishment / {31l

Correct Answer :-

o Positive reinforcement / HhRIcHD g AETLY

4) An individual who is lacking in achievement motivation would exhibit J TR

g A We ey A FA ¢ ag _ weRia som
1. Self-assurance / TH-HTYN™A

2. Pessimism / faRremarg

3. Pragmatism / STAgRAIE,

4. Positive outlook / GPRIcHeE ETSCahIUT

Correct Answer :-
« Pessimism / A02mare

5) Planning in inclusive education should be followed by . | gHETAA AT F Frer
Ca) & GaRT grelel foram S =nfgwl

1. Recapitulation / AR-hYeT
2. Evaluation / #eehet
3. Implementation / SrATeadsT

4. Assessment / 3TTeholeT

Correct Answer :-

« Implementation / HAT=aTT

6) The RTE Act was enacted in the year: / IRAS AT =9 a¥y & BN fpaT T o
1.2010
2. 2008
3.2011

4. 2009

Correct Answer :-



7) ‘Jack is a below average student in mathematics’. Which of the following tests would best
support he above statement?/ st AT # tH FASAR o 1 AEfaf@a F F wle ar
AT IYNFA FUST FT Fafedd FAAT FLal 82

1. Intelligence test / ﬂ?\'ﬁf gI&ToT

2. Aptitude test / 3-1@77[1%' gI8ToT

3. Achievement test / 3Telfet] GI&ToT

4. Skill based test/ ShITeT 3T IT&TOT

Correct Answer :-
« Achievement test / TSIl G{I&T0T

8) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for

which the dog naturally salivated?/gﬁ' & 91T ggeld & m g ﬁ,ag qeg HisT AT
o1 fIHT 3TANT 37 ST FT a0 FA & AT fFAr ar=ar o1 G fAw Fan
FAHIAF T F R TIFHET AT?

1. Unconditioned response /WW @Iﬁm
2. Neutral stimulus / dCE 5C\\Cc\\lhldn

3. Unconditioned stimulus / TaTHTTdH 3@%
4, Conditioned stimulus / ﬂﬂaﬁﬁ B@W

Correct Answer :-

« Unconditioned stimulus / EITHTIdeh 36419

9) How many pairs of source traits did Cattell identify in his theory of personality? /

S0 ¥ IO cufRded & Rquid # W TEOT & Fraet I R@Tw?
1. 16
2.32
3. 14

4.22

Correct Answer :-



10) Teacher eligibility test is an example of which type of test? / f¥&Teh graraT Tdiator fvg 9K
& qIaTor T TFH 3R §?

1. Aptitude / FfAeTar
2. Creativity / W@ﬁﬂ?ﬂ
3. InteIIigence/ﬂ?\jﬁ'

4. Personality / ST T&dcd

Correct Answer :-

e Aptitude / FfAIETar

11) may affect a child’s social development. / , 9T & FHATS®
e F gafda FT dFar gl

1. Asthma/ 3TEJHT
2. Chronic Illness / gTIFﬁ' AT
3. Allergies/ Toloit
4. Eating habits/@'lﬁf &r e

Correct Answer :-

¢ Chronic Illness/w AR

12) In a learning friendly environment, the following characteristics are present except ./
HIH F TF IeTFe AT H, & 3ramar Arafaf@a Rdvare sufeaa g

1. Learner autonomy / f1&Treft &1 Tara=ar

2. Multi-disciplinary approach / ag—ﬁm TTeahIoT
3. Teacher monitoring / fT&Teh FI THAIRTAT

4. Flexible process / CEICIRCIET ]

Correct Answer :-

 Teacher monitoring / RESEG IR GG

13) In a language, the smallest unit that signifies meaning is called / TedY sareT ﬁ', g H
i arell HEH B SHE HY FgT ST gl

1. Phoneme / TdTAH (PleilH)
2. Syntax / aTFT earg (RReea)



3. Word / 2Ts¢, (d3)
4. Morpheme / Sy pep= (J:ﬁ:fﬁﬂ)

Correct Answer :-

e Morpheme / Sy lep= (ﬁ'cﬁ?zl')

14) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice?
| Fafaf@a # § Fl9-81 FYT FaT WA A 'HARF WOM' F FGA 3T aE I0TF FI@T
&

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / f1&Te
FATIAAT T AcqTfed AT & 3R Rt w1 3% oeat o ggaa & v e gar
J

2. The teacher uses praise and appreciation of a child’s work. / {167 ST & HIH FT TIEAT 3R
AT HT E

3. The teacher gives a short break to have snacks and water. / [1&T&h =TT IR gl i & foT T
BT s &dT ¢l

4. The teacher provides rules and conditions to complete the task. / 16Te cop i) ERU A & fov
e 3R e yareT S g

Correct Answer :-

+ The teacher encourages autonomy and gives choices to the learners to reach their goals. / T8
FAIAAT P AR AT & AR R Fr 39 qe2t g6 9go= & v fadeq &ar
gl

15) Which of the following is not a part of the process of memory? / farafaf@a & @ a9

wfa i afear &1 e a8 ¥
1.Storage/34?>TTUT

2. Retrieval / JeT: gifea

3. Encoding / E'FI'EI'?I%E’T

4. Motivation / SO

Correct Answer :-

« Motivation / YOI

16) Which of the following is not part of the quantitative prerequisite for Continuous and
Comprehensive Evaluation? / ¥ad Ta &am9& Hedidd & fav Arafaf@a & a1 Amrcas qardem

&1 fewwm adt @2



1. Classrooms / She&TTq
2. Schools / ﬁ?‘?:l'l?-ﬁ’:l'
3. Teachers / TA&Th

4. Curriculum / YToIshH

Correct Answer :-

e Curriculum / YTodshH

17) Which part of memory involves forgetting unnecessary information in 15-25 seconds? / Fﬂ_ﬁ

¥ fFa amr F 15-25 Q3 A HAGRTF AGHRT F A ST afAeT 32
1. Long term memory / Gre-ahTellel FF‘I_ﬁ

2. Sensory register / Tdgl IoEex

3. Working memory / Tefel T

4. Short term memory / Tg-ShTellel THIA

Correct Answer :-

 Short term memory / ﬂ"g’—ﬁ?ﬁﬁmﬁ

18) Infants develop stranger shyness by the age of ./ fﬂ'{l; # 37 dF IoATea d
e a1 aw REfaa wa

1. Three months / T FgIaT
2. One year / Ueh a¥

3. Nine months / 5t #gY

4. Six months / B8 #Fglal
Correct Answer :-

« Six months / B¢ Helel

19) Deductive method proceeds from : / faIsIcA® R 59 YR & &
1. Examples to illustrations / 3GTgI0T T TSerar &1 3R

2. Law and rules to observation / hlefel IR AT & gt Fr 3R

3. Specifications to generalisations / TTHTEATEHIOT o afaca & 3R

4. Observation to examples / 3l 3ale Ul Fr 3R




Correct Answer :-

e Law and rules to observation / W 3-ﬁT IGRE ﬁ 3Tdellehed hr 3'ﬁT

20) What is the term used to describe the strong bond between a mother and her child? / At 3R
3F T F €T AT FUT FT qUIT I F A0 FH aeg w1 39ANr BFFAr Fwar
e?

1. Love / 9o (o)

2. Security / JI&IT (GERET))

3. Maternity / HTcJcd (FIAEN)
4. Attachment / HHFAT (37¢THT)

Correct Answer :-

« Attachment / HHT (37¢THT)

21) What type of intelligence would be used when trying to navigate through traffic? / gﬁﬁF )

AfdIe FI H1 FIRAT FIT AT FW TFR A1 50 F1 397097 fFaAr swan?
1. Interpersonal intelligence / IRAITFAR ﬂ?\:ﬁa'

2. Intrapersonal intelligence / AR TFdSh WT

3. Spatial intelligence / I IEET §@'

4. Naturalistic intelligence / qlﬁfﬁm ga{f*ér

Correct Answer :-

« Spatial intelligence / EJIIEG g@

22) Hereditary factors begin their influence right from the time of of the child./ aangw?r
FRF qod & F AT @ IHYAT WHT YE FA B
1. Development / f[a&hrd

2. Growth / aﬁ@'
3. Conception / I
4. Early years / IR &8 ay

Correct Answer :-

« Conception / I



23) Constructivism assumes that all knowledge is: / TITAIG I8 AT ¢ &% @oft 7 et

&

1. Constructed from the learner’s previous knowledge. / forefreff & q‘\éTJIT-ﬁ AT o AT
2. Constructed solely by the learner. / foraTrff GEIRY saer fafFa

3. Transmitted to the learners by the teacher. / foT&Te CaRT fRremreft v 9T

4. Acquired solely through personal experience. / SITFIITT 3ie3a & HATEIH ¥ had grod fohar
83T
9

Correct Answer :-

« Constructed from the learner’s previous knowledge. / fgTeff & qﬁar—ﬁ AT & AT

24) According to Kohlberg, child may question the social and political beliefs
of the parents and elders in moral development stage. / Flgadd &
3TTHR, T, _ e Ryere wor o anveln- e 31k awt By @t
3R TR AT IR T T aHaT

1. Post-conventional /W—W

2. Formal conventional / TR IRURe
3. Pre-conventional / T:i’-qlTQﬁTﬁ

4. Conventional / IRIRR

Correct Answer :-

« Post-conventional /W—W

25) How will you calculate average marks of students? / 319 st & 3itad 3l
&Y IA0TAT FH FLA?

1. Geometric mean/ [SAMATEH AT
2. Variance/ 98I0T
3. Standard deviation/ HATIeh ATeleT

4. Arithmetic mean/ 3iaTOIg 3frad

Correct Answer :-

. Arithmetic mean/ 3fhariOIa 3iaa



26) Generally, all classrooms will have diversity. Identify the dimension that does not present too many
problems related to diversity.

/makw,mﬂa?amﬁﬁﬁﬁﬂma?ﬁlwmaﬁmﬁsﬁagam
fafauar @ wafta #& awemst F veqa 7@ Fwa B

1. Cultural background/ w—?ﬁ% tlc:%"ﬁiﬁf
2. Geographical status/ e Tufa
3. Social beliefs / ATATGIR HATIATT

4. Athletic ability/ g€ Jragcrd

Correct Answer :-

» Geographical status/ o afa

27) Which of the following is a child's attribution to success? / fFafafad kK|
ThAd & o TP 9= $1 fAuang g2

1. Consistent focus on Learning/m U RITAR €T shigd T
2. Random focus on self / @8 TR &0 dhigd HIAT
3. Maintain worksheets and notes / ®TIUF® (ddhRite) 3R Aeq AR HAT

4. Believe in luck / HTT TR Iy &A1

Correct Answer :-
e Consistent focus on Learning/m U TIMAR €T higd AT

28) As per Cognitive Constructivism, learning is a result of: / HATACH® TIAEIG & AR,
e AT &1 v gRumA §:

1. Behavioral and Collaborative responses / cddgiX 3R ggaeeAs wfafkare
2. Assimilation and Accommodation of structures / TXTATIT &l TATeleT 3T MA@
3. Extrinsic and Intrinsic reinforcement / EI'I%'& IR AR HOQ AETY!

4. Reward and Punishment of actions / chlidlé bl QIEDPR IR E3

Correct Answer :-

o Assimilation and Accommodation of structures / GITATHT T AT 3T AT

29) Which assessment measures student’s performance against a fixed set of

predetermined standards? / a#hmngﬁmq\éﬁu&ﬁama;wﬁﬁwﬁz#m
BT & Ygeie S ATIAT 8?2



1. Norm-referenced assessment / W-ﬂ'alﬁa X ICING!
2. Criterion-referenced assessment / AT s-Aeiid 3fTehelel
3. Diagnostic assessment / EAIGE G

4. Achievement assessment / 3YCITSY ST 3Teholel

Correct Answer :-

« Criterion-referenced assessment / maa-s'aafﬁ?rm?r

30) Radha asks her students to make their own questions and write their respective answers
for a chapter. A student in which stage of cognitive development benefits most from the

implications of this task? / ITYT = 3T BT A I7& forg gt T AT | UY §91 3R
I Hefed IR fora+ & e &8 | U o, G3HEe faeN & fod avor 3 59
1d & fafgard J a9 3t arvnfad giar 82

1. Sensory motor stage / TAGT ACT 37aTUT

2. Concrete operational stage / H\T—cf AiharcA® 3aTm

3. Formal operational stage/3—ﬁ'qflTﬁT=F FicharcHs 3aEaT
4. Preoperational stage/qr'\é‘f AfehdTcHs 3aTar

Correct Answer :-

« Formal operational stage/3—ﬁ'cl€|'lﬁ_°F TihdTcHe 319EdT

Topic:- General English(L1GE)

1)

Choose the appropriate prepositions for the given sentence:

How has farming changed your area recent times?
1.by...in
2.in ... in

3. at ... through

4, for ... at

Correct Answer :-



2) Read the passage and answer the question given with one of the options:

It is breakfast time. You are looking forward to eating a nice ripe banana ever since you woke
up. Just when you reach for it on your counter, you see something that makes you much less
hungry: a swarm of fruit flies! Fruit flies are tiny insects that are attracted to ripe or rotting
fruits and vegetables. The flies not only eat the fruit, they also lay their eggs there. A single fruit
fly can lay up to 500 eggs on the surface of a piece of fruit. Within eight days, the fruit flies that
hatch from these eggs are full adults that can then lay their own eggs. As you can see, a small
fruit fly problem can become very large very quickly. Fruit flies are annoying, but they probably
will not hurt you. Because they are such a nuisance, however, most people want to get rid of
these pesky bugs as quickly as possible. Some use pesticide sprays on the fruit flies. Although
this will kill the flies, it will also spread harmful poison all over your kitchen. Luckily, there is
also a completely safe way for you to get rid of fruit flies in your house. The first step - remove
all fruits or vegetables from your counter. Store these items in the refrigerator. Clean up any
spilled juice or bits of food on the floor. Take out the trash. Wash any dirty dishes that are in
your sink.

Give a synonym of nuisance?
1. Comforting

2. Convenience

3. Annoyance

4. Anointment

Correct Answer :-

« Annoyance

3) Read the sentence carefully and choose the option that has an error in it:

Firstly, you must understand the problem.
1. the problem.

2. Firstly,

3. you must

4. understand

Correct Answer :-

o Firstly,

4) Report the following statements.



He said to the carpenter, "Will you have the furniture ready by tomorrow evening?”
1. He asked the carpenter if he will like to have the furniture ready by the next evening.

2. He asked the carpenter if he would have the furniture ready by the next evening.

3. He asked the carpenter that he will have the furniture ready by the next evening.

4. He asked the carpenter that he would had the furniture ready by the next evening.

Correct Answer :-

» He asked the carpenter if he would have the furniture ready by the next evening.

5) Fill in the blank with the correct option in the given sentence:

A sudden or startling event in a crowd of people will create a -- motion.
1. de --

2. con --

3. com --

4. dis --

Correct Answer :-

e Ccom --

6) Fill in the blank with the correct option in the given sentence:

Some computer games are highly interact --.

1. --ion
2. - ive
3. --ous
4, --ively

Correct Answer :-

7) Read the passage and answer the question given with one of the options:

In 1941, many countries of the world were at war. In Europe, Germany and Italy were
fighting together to expand their territories. Germany had already taken over the
Netherlands, Poland, Denmark and France and had also been bombing Great Britain. The
war in Europe had spilled into Africa, with German and Italian troops fighting British



troops in North Africa. Japan joined an alliance with Germany and Italy, which was called
the Axis as it wanted to take control of Southeast Asia and the South Pacific. The U.S. had
not joined the fighting, although many Americans wanted to join the war to stop the Axis
from taking over Europe and Asia. President Franklin Roosevelt wanted to discourage
Japan from invading countries in Asia. In early 1941, he moved the U.S. warships in the
Pacific to Pearl Harbor in Honolulu, Hawaii. Japan needed oil. The Dutch East Indies,
which is now Indonesia, had a large supply of oil and the Japanese government decided to
invade it in order to have an oil supply. They also developed a plan to keep the U.S. from
interfering with the invasion. On Sunday, December 7, 1941, over 350 Japanese war planes
from six aircraft carriers began bombing the U.S. ships at Pearl Harbor. The surprise attack
began at 7:48 a.m. and was over in 90 minutes. Eight U.S. battleships were damaged; four
had been sunk. Over 2,400 U.S. military personnel had been Kkilled.

What was happening in North Africa in 1941?

1. The Africans were fighting the Japanese

2. The American were fighting the British

3. The Germans and Italians were fighting the British.

4. It was calm with no fighting.

Correct Answer :-

« The Germans and Italians were fighting the British.

8) Read the passage and answer the question given with one of the options:

In 1941, many countries of the world were at war. In Europe, Germany and Italy were
fighting together to expand their territories. Germany had already taken over the
Netherlands, Poland, Denmark and France and had also been bombing Great Britain. The
war in Europe had spilled into Africa, with German and Italian troops fighting British
troops in North Africa. Japan joined an alliance with Germany and Italy, which was called
the Axis as it wanted to take control of Southeast Asia and the South Pacific. The U.S. had
not joined the fighting, although many Americans wanted to join the war to stop the Axis
from taking over Europe and Asia. President Franklin Roosevelt wanted to discourage
Japan from invading countries in Asia. In early 1941, he moved the U.S. warships in the
Pacific from San Diego, California to Pearl Harbor in Honolulu, Hawaii to safeguard them.
Japan needed oil. The Dutch East Indies, which is now Indonesia, had a large supply of oil
and the Japanese government decided to invade it in order to have an oil supply. They also
developed a plan to keep the U.S. from interfering with the invasion. On Sunday, December
7, 1941, over 350 Japanese war planes from six aircraft carriers began bombing the U.S.
ships at Pearl Harbor. The surprise attack began at 7:48 a.m. and was over in 90 minutes.



Eight U.S. battleships were damaged; four had been sunk. Over 2,400 U.S. military
personnel had been Kkilled.

Why did Japan decide to invade the Dutch East Indies?

1. Japan needed oil and the Dutch East Indies had a large supply.
2. The Dutch East Indies were not happy with Indonesian rule.
3. The Indonesians were quiet and peaceful people.

4. The country was directly in front of their war efforts.

Correct Answer :-

« Japan needed oil and the Dutch East Indies had a large supply.

9) Read the passage and answer the question given with one of the options:

In 1941, many countries of the world were at war. In Europe, Germany and Italy were
fighting together to expand their territories. Germany had already taken over the
Netherlands, Poland, Denmark and France and had also been bombing Great Britain. The
war in Europe had spilled into Africa, with German and Italian troops fighting British
troops in North Africa. Japan joined an alliance with Germany and Italy, which was called
the Axis as it wanted to take control of Southeast Asia and the South Pacific. The U.S. had
not joined the fighting, although many Americans wanted to join the war to stop the Axis
from taking over Europe and Asia. President Franklin Roosevelt wanted to discourage
Japan from invading countries in Asia. In early 1941, he moved the U.S. warships in the
Pacific from San Diego, California to Pearl Harbor in Honolulu, Hawaii to safeguard them.
Japan needed oil. The Dutch East Indies, which is now Indonesia, had a large supply of oil
and the Japanese government decided to invade it in order to have an oil supply. They also
developed a plan to keep the U.S. from interfering with the invasion. On Sunday, December
7, 1941, over 350 Japanese war planes from six aircraft carriers began bombing the U.S.
ships at Pearl Harbor. The surprise attack began at 7:48 a.m and was over in 90 minutes.
Eight U.S. battleships were damaged; four had been sunk. Over 2,400 U.S. military
personnel had been Kkilled.

Give an antonym of ‘alliance’.
1. Antagonism

2. Concurrence

3. Affiliation

4, Accord



Correct Answer :-

« Antagonism

10) Read the passage and answer the question given with one of the options:

In 1941, many countries of the world were at war. In Europe, Germany and Italy were
fighting together to expand their territories. Germany had already taken over the
Netherlands, Poland, Denmark and France and had also been bombing Great Britain. The
war in Europe had spilled into Africa, with German and Italian troops fighting British
troops in North Africa. Japan joined an alliance with Germany and Italy, which was called
the Axis as it wanted to take control of Southeast Asia and the South Pacific. The U.S. had
not joined the fighting, although many Americans wanted to join the war to stop the Axis
from taking over Europe and Asia. President Franklin Roosevelt wanted to discourage
Japan from invading countries in Asia. In early 1941, he moved the U.S. warships in the
Pacific from San Diego, California to Pearl Harbor in Honolulu, Hawaii. Japan needed oil.
The Dutch East Indies, which is now Indonesia, had a large supply of oil and the Japanese
government decided to invade it in order to have an oil supply. They also developed a plan
to keep the U.S. from interfering with the invasion. On Sunday, December 7, 1941, over 350
Japanese war planes from six aircraft carriers began bombing the U.S. ships at Pearl
Harbor. The surprise attack began at 7:48 a.m. and was over in 90 minutes. Eight U.S.
battleships were damaged; four had been sunk. Over 2,400 U.S. military personnel had been
killed.

Why were Germany and Italy fighting in Europe?
1. Italy wanted to rule over Germany.

2. Germany wanted to rule over Italy.

3. Both countries wanted to expand their territories.

4. Both countries wanted to rule over Britain.

Correct Answer :-

» Both countries wanted to expand their territories.

11) Read the passage and answer the question given with one of the options:

It is breakfast time. You are looking forward to eating a nice ripe banana ever
since you woke up. Just when you reach for it on your counter, you see
something that makes you much less hungry: a swarm of fruit flies! Fruit flies



are tiny insects that are attracted to ripe or rotting fruits and vegetables. The
flies not only eat the fruit, they also lay their eggs there. A single fruit fly can
lay up to 500 eggs on the surface of a piece of fruit. Within eight days, the
fruit flies that hatch from these eggs are full adults that can then lay their
own eggs. As you can see, a small fruit fly problem can become very large
very quickly. Fruit flies are annoying, but they probably will not hurt you.
Because they are such a nuisance, however, most people want to get rid of
these pesky bugs as quickly as possible. Some use pesticide sprays on the
fruit flies. Although this will kill the flies, it will also spread harmful poison all
over your kitchen. Luckily, there is also a completely safe way for you to get
rid of fruit flies in your house. The first step - remove all fruits or vegetables
from your counter. Store these items in the refrigerator. Clean up any spilled
juice or bits of food on the floor. Take out the trash. Wash any dirty dishes
that are in your sink.

Why should you not spray pesticide to kill fruit flies?
1. It will be harmful to other flies.

2. It will spread poison inside the kitchen.

3. It will get rid of the bugs.

4, It will kill the fruit flies.

Correct Answer :-

« It will spread poison inside the kitchen.

12) Read the passage and answer the question given with one of the options:

It is breakfast time. You are looking forward to eating a nice ripe banana ever
since you woke up. Just when you reach for it on your counter, you see
something that makes you much less hungry: a swarm of fruit flies! Fruit flies
are tiny insects that are attracted to ripe or rotting fruits and vegetables. The
flies not only eat the fruit, they also lay their eggs there. A single fruit fly can
lay up to 500 eggs on the surface of a piece of fruit. Within eight days, the
fruit flies that hatch from these eggs are full adults that can then lay their
own eggs. As you can see, a small fruit fly problem can become very large
very quickly. Fruit flies are annoying, but they probably will not hurt you.
Because they are such a nuisance, however, most people want to get rid of
these pesky bugs as quickly as possible. Some use pesticide sprays on the
fruit flies. Although this will kill the flies, it will also spread harmful poison all
over your kitchen. Luckily, there is also a completely safe way for you to get
rid of fruit flies in your house. The first step - remove all fruits or vegetables



from your counter. Store these items in the refrigerator. Clean up any spilled
juice or bits of food on the floor. Take out the trash. Wash any dirty dishes
that are in your sink.

How will you get rid of fruit flies from your kitchen?

1. By eating the fruit you bring home quickly.

2. By not buying any fresh fruit and vegetables.

3. By storing fresh fruits and vegetables in the refrigerator.

4, By giving decayed fruit to your pets.

Correct Answer :-

« By storing fresh fruits and vegetables in the refrigerator.

13) Read the passage and answer the question given with one of the options:

It is breakfast time. You are looking forward to eating a nice ripe banana ever
since you woke up. Just when you reach for it on your counter, you see
something that makes you much less hungry: a swarm of fruit flies! Fruit flies
are tiny insects that are attracted to ripe or rotting fruits and vegetables. The
flies not only eat the fruit, they also lay their eggs there. A single fruit fly can
lay up to 500 eggs on the surface of a piece of fruit. Within eight days, the
fruit flies that hatch from these eggs are full adults that can then lay their
own eggs. As you can see, a small fruit fly problem can become very large
very quickly. Fruit flies are annoying, but they probably will not hurt you.
Because they are such a nuisance, however, most people want to get rid of
these pesky bugs as quickly as possible. Some use pesticide sprays on the
fruit flies. Although this will kill the flies, it will also spread harmful poison all
over your kitchen. Luckily, there is also a completely safe way for you to get
rid of fruit flies in your house. The first step - remove all fruits or vegetables
from your counter. Store these items in the refrigerator. Clean up any spilled
juice or bits of food on the floor. Take out the trash. Wash any dirty dishes
that are in your sink.

What are fruit flies?
1. Insects that don’t like fruit.
2. Flies that look like fruit.

3. The white worms that are found in rotting vegetables.



4, Tiny insects that are found on ripe fruit.

Correct Answer :-

« Tiny insects that are found on ripe fruit.

14) Choose the right tag:

Every student has to register before the end of the first week of
class, ?

1. didn't he
2. hasn't he
3.isn't he

4, doesn't he

Correct Answer :-

« hasn't he

15) Choose the appropriate antonym for the highlighted word in the given sentence.

Earthquakes frequently occur in Japan.
1. often

2. occasionally

3. always

4. commonly

Correct Answer :-

» occasionally

16) Choose the appropriate option that rewrites the given sentence in its passive voice.

A large crowd watched the game.

1. The game is watched by a large crowd.

2. The game was watched by a large crowd.

3. The game was being watched by large crowd.

4. Game was watching a large crowd.



Correct Answer :-

« The game was watched by a large crowd.

17) Choose the appropriate tense to fill in the blank in the given sentence:

Although it ___ for days, the cricket pitch was in perfect condition.
1. had been raining

2. had raining

3. is raining

4. has been raining

Correct Answer :-

» had been raining

18) Choose the appropriate tense to fill in the blank in the given sentence:

I can’t get into the room. I the keys.
1. had lost

2. loose

3. has lost

4. have lost

Correct Answer :-

¢ have lost

19) Choose the appropriate tense to fill in the blank in the given sentence:
She some friends.

1. had been visiting

2. had been visited

3. had visiting

4. is been visited

Correct Answer :-

» had been visiting



20) Choose the appropriate synonym for the highlighted word in the given sentence.

Seldom is the weather more dramatic than when thunderstorms strike.
1. noticeable

2. fair

3. inconspicuous

4, full of drama

Correct Answer :-

¢ noticeable

21) Choose the appropriate conjunction for the given sentence.
it is hot outside, I wore shorts.

1. Now when
2. Now that
3. Since

4, Just as

Correct Answer :-

¢ Since

22) Choose appropriate articles for the given sentence:

When public officials wish to state their ideas to public, they often call press
conference.

1. the ... the
2.the ... a
3. no article required ... a

4,a..a

Correct Answer :-

e the..a

23) Choose appropriate article for the given sentence:

Please give me one-rupee note from the ones that you have been collecting for a while.



1. the
2.a
3. no article

4. an

Correct Answer :-

24) Choose an appropriate determiner for the given sentence.

kittens are taught to hunt by their mothers.
1. Any
2. Most
3. Every

4. Much

Correct Answer :-

e Most

25) Choose an appropriate modal for the given sentence:

Walk carefully lest you fall.
1. may

2. will

3. should

4. could

Correct Answer :-
« should

26) Choose the most suitable pronoun for the given sentence:

I am going to the market. Shall I get for you?
1. nothing

2. anything



3. something

4. everywhere

Correct Answer :-

» something

27) Choose the option that substitutes the given phrase appropriately.

A person who is trained to travel in a spacecraft
1. Astronaut

2. Wanderer

3. Pilot

4. Voyager

Correct Answer :-

e Astronaut

28) Choose the option that best explains the highlighted expression:

You mustn’t be afraid to speak your mind.
1. to speak impressively

2. to speak loudly

3. to speak exactly what is in your mind

4, to speak clearly

Correct Answer :-

» to speak exactly what is in your mind

29) Choose the right tag:

Kumar’s friends rarely eat in restaurants, ?
1. don't they

2. did they

3. do they

4, didn't they

Correct Answer :-



30) Which of the following options best combines the given sentences?

Don’t drop waste paper. You're going through the factory.
1. Don't drop waste paper while going through the factory.

2. Don't you drop waste paper while going through the factory!

3. While you are going through the factory, don’t waste paper.

4. As you are going through the factory, don't you drop waste paper?

Correct Answer :-

« Don't drop waste paper while going through the factory.

Topic:- General Hindi(L2GH)

1) ‘39 e 3N T, af fRigifl-4R ugd TR 3R U g 7 3| 3Rieh ugHn w1 g-Qa A8 @ f
St 918 Ug &, 8T, TI-TRT -7 9t ool & fagre 81 9| st va-fém Sitd wisH usdt 7 ok |
AT ISl B, aawugﬁwarﬁﬁ%leﬁ'\rsn?ﬁw% g, Hg B! 31 W1l 31 To-9¢ fagq W =
3ireft 78T for wahd, S At gR 11 3R H Ped §, T fba oien 81 & g3 Smew +ft wae et wd|
# fpa-it e-Td HaT §, g0 AU STE) S g, 3R 1) 3@, Y a8 ger Tl #T FO@R 8, ger
(S BT HYR 81 307 AA-a91 §1d &, T3 T FW & & @ B, ﬁﬁzﬂﬁﬁ»—daﬁwmﬁaa%%l
# U 8) Wedhdl | AN Ugdl AT §, 89 W Hi TH-US &l | ql-gl, i~ 61 UST ¥l § fbe gd
F = B 71 fF qH 9 Da-Pe F 999, Tare 9 g Jrei? g i af g i 91 @ 8, 99 $5u-
YR 38 TS § TS Wed T@H | R g 39 ke SY Al 8, dl IgaR 8, TR Id S1si 3R 7S | eeil-S ST
Tl ITeT P M FATE & Y Tl SEIG Hd 12’

IUYa TR BT UgHR -1 I T YUY BT IR 9a133:
U — T & JHR T9-a¢ fagr :

1. HE AgAd g P Tohd ¢

2. 9gTS 16T Y T ¢l

3. 39S U Hhd &l

4. 39S 7ET o @sha €

Correct Answer :-

. 3N A fow wa €

2) ‘39 g 36l e, aY figil-uR ugd @R 8Nk TP g | A | SRielt e #iS gi-Ta A8t & T
St AR Ue @, 8T, WI-AR7 AY-2RT it SRieh & g & oa | gt wa-faA SifE we usdt & ok &=
ST ISl 8, 99 Bel g faut medt 31 3R 3imeft am 8, 8T, wet 1 3 9rdl 71 9899 g W =
it E forg T q, St af gr T 3R & wgal §, gU fhaw giwn §) f g9t daaw oft e =18l Ad |
T fpa-it Ag-Td HraT §, g0 U1 SiTEl ¢Ed B, 3R T8l 3Tq, o I8 TR i@l BT FO@R 8, TR



g@mwélsﬂﬁﬁﬁ TR EH B, g9 g ol A W 3 B, D ) frdbe ok g1t A g §

H UTH 15t Wewmdl | gHRIT Ugdl 6T §, 99 W Wi Uh-Us 3ol | §I-gl, di-d19 |Td UsT ¥§dl § (e gH
F = B B qU 9 Da-Pe A g9, Tare U g S g9t at & € 9 9re @ 8§, 99 Su-
WR 33 ¥ 7 U Wed TEN | 3R R 39 a¥E 9U ar! g, ot 98aR €, TR I el 3R 7S A [eeht-g 3T
Jal | eI P IS HATE F IUA I aRATG B 812

ST T Bl UgH A ID T Uy BT IR qd183:
U — 7T § BhedhR T a1d Afed o1 d1f aed 82

1. #l H S g

2. 9GS A g

3. 316N 16T forg ard g
4. AgeTd =gl A ¢
Correct Answer :-

. TGI8 A &I

3) ‘SH d¥g el UEH), o) foiei-UR Ued TEhT 3R U g 7 AT | 3l U BIS g9l-Ud el & P
St 918 Ug &, 8T, TI-TRT -7 9t ool & fagr 8 9| st va-fém Sitd wisH usdt § SR |
AT USd B, aawugﬁwan?ﬁ%laﬁvamﬁw% B, Hg B! 31 Tl 31 To-9¢ fagq W =
3ireht 78T for wahd, e At gR @11 3R # Ped §, T fba oien 81 & g3 Smew +ft wae 71t wa
B fpa-it Ae-Td HaT §, g0 AU STEl SWd g, 3R Tl 3@, Y I8 ger TGl #1 FO@R 8, Tert
(S o1 HR 31 307 AA-a8 §1d ¢, T T FW & & S@n B, ﬁﬁrﬁﬁﬁ»—caﬁvsﬁ‘rﬁaaﬁ%l
T U7 EY Weddr| SHRN UgdT ¥edl §, 39 W Ut U-Us &<t # §1-q), i9-M9 e usT Wear § o qw
F = Fd 71 fF qH 9 Da-Pe A 999, Tare I g J1ei? g i af g i 9t @ 8, 99 Su-
YR 391 ¥ H US TSd @I | 3R e 39 a¥g SU Al g, df 9gaR 8, IR T sl 3R 79 | [eekt-g3T
Qe | SIST B M FHTS & FUY Tl GIEIE HId 812’

ITYe TR B UghR 1 YD T Y BT 30 Td183:
U — ‘TI-IRT & I A1 §HH 82

1. FAYRT

2. gded

3. ACqEY

4. gfaq

Correct Answer :-

4) ‘39 7% AN U, @t Right-ur ygd W@t 3R te g 7 3T el ueT #I g -Qa A & fp
St 918 UG &, 8T, TI-TRT -7 9t ool & fagr g1 9| ast wa-fem Sifd s usdt 7 ok @
ST USdT ], aaﬁugﬁmamﬁ%mﬁvamﬁw% B, $g B! 31 Wl 31 To-9¢ fagq W =

3i¥ett 7Y fora | q, ST al gR T8T1 SR & Tgdl §, gH fba- oian 81 fs g9 daa +ff 9aw 781 ad|
T fpa-i Ag-Td HraT §, g0 AU SiTEl ¢Ed B, 3R T8l ¢@d, S I8 TR TGl BT FU@R 8, TR

S BT QR 81 39 UA-a9RI g 3, I3 g0 ot T@A ord 3@ 8, ﬁﬁé’fﬁﬁ?&ﬁ?ﬁﬁﬂﬁﬂﬁﬁ%l
H U 81 Wewdl | gHRI UgdT 3541 §, 39 W Wt U6-Uw 3=t # gi-gt, Fi9-di= ara usT Igan § e qw



P 3TN Fd 81 fH T9 I Qa-Pe A aad, Tard U g1 S1siH? gt i g1 & 9 I1a avre €, 99 SU-
1R 0 v H U Wed @R 3R g 39 @vE I Warl B, dl 3geR 7, IR T w1l iR 7t | eeh-gST
Qe | gIST DI M FHTS & FUY Tl GIEIE HId 812’

IUYe TR B Ugh? - YD T Uy BT 30 Td133:

TR — ‘SRATG’ e § B AT Weg YT B a8 W g3 32
1. 91¢

2. 31

3.,

4. €T

Correct Answer :-

5) ‘39 a¥g 30el e, af figil-uR ugd @R 8Nk TP g A A | SRieht e #iS gul-Ta gl & TP
St 918 Ug &, 8T, TI-TRT -7 9t ool & fagr g1 9| st wa-fem Sitd wisH usdt 7 ok @
ST ISl ], aawaugﬁwan?ﬁ%laﬁ?an?ﬁw% B, $g B! 31 Wl 31 To-99 fagH W =
¥t 7Y fora | d, ST al gr T8T1 SR & Tgdl §, gH fba- oian 81 for g3 dea? it waw 81 ad|
T foraeit AgTd HaT §, G0 SIUHT STEl ¢@d g1, 3R T8l 4d, ot 98 gRR! SiTEl T PR 8, ToR!
S BT PYR 21 57 HA-d9TR E 7, G2 g poft A oTa o ©, At € fbdpe 3R BTt A B1a B
H U 81 Wewdl | gHRI UgdT 35T §, 99 W Wt U6-Us 3o # gi-at, Fi9-di= |1a usT Igar § e qw
F = Fa 71 fF g0 9 Da-pe A 999, Tare I g J1ei? gl & € 9 91 e 8, 99 Su-
YR 3t gTo § 7S Wed TEHI | SR g 33 ke SY Al 8, d) 38R €, TR Id w13 3R 7 | eeil-SST
Qe | SIST B M FHTS & FUY F) IIEIE HId 812’

IUY TR B Ughx -1 D T UY o1 30 Td133:
U - ¢ HATS | FAT A0 g2

1. A HAS

2. 7T & HATS

3. 80 Fr FAS

4. AgeAd HT FATS

Correct Answer :-

o AEAd T FATS

6) ‘39 e el wEh, t fofaTh-He Ted YT SR T g 7 31 3RS e BIS gi-@a T ¢
i dTe U &, 8T, TI-TRT T-@R1 ot oot & fagr gt o1 @l wa-feT offd wist usdt § ok g
AT UST 8, a9 Bl ag faur 3l 31 3R 3l Fm B, 87, e & o Wil 31 §3-59 fagH W g
eﬁﬁﬁqﬁmm,aﬁwa}amleﬁ?ﬁmﬁ,zﬂmﬁaﬁﬁ%a@%ﬁwﬁmqﬁaﬁl
# fpa-it Ag-Td HraT §, g0 U1 SiTEl ¢d B, 3R T8l 3@, W I8 TRl TGl $T FO@R 8, TRt
g@mw%lﬁﬁﬁﬁ-mﬁﬁ? 79 g Hoft A W 3w B, ﬁﬁéﬁmﬁ'eﬁ?aﬁﬁaﬁ%%l
H UTH gt Wewmdl | gURIT Ugal 8T §, 99 W Wi Uh-Uw ol | gI-gl, diH-d19 aTd UsT ¥§dl § (e gi
A 3TN Fd 81 fH T9 I Qa-Pe A aod, Tarh I g1 132 gt <t gl & i I1a are €, 99 SU-



YR 38t TS § U USd TEHT | 3R g 39 ke SY At 8, dl 35N §, TR Id S1ei 3R 7S | eal-SST
Tl TeT Pt M AT & YA Tl SEIG Hd 12’

IUYa TEIR B TgH - U T Uy HT IR gd153:
UL - ‘UMY 7 BehTr he1 & g 82

1. 3 9-9F i F AT

2. Uehceh of Wl
3. dTd o T
4. 36 H T AT

Correct Answer :-

o -9 T T AT

7) '3 78 el e, qt Rigt-uR ugd W@ 3R U g 7 mAT | 3Rieht ueHr #iE - A 8 b
i 918 Ug &, 78T, WI-MRT TY-ERT1 9t oi¥ieht & fagr g1 &I | ast a-fam Site wisH usdt § ok @7
AT USdl 8, 99 Pal gg faem 3l 31 3 3imelt Fm 8, BT, Hg 31 31 A1l 81 g8-938 fag W 3=
aﬁsﬁﬂﬁmm,aﬁma‘rg?mlaﬁ?ﬁmﬁ,g’nmﬁaﬁw&%@mmmqﬁaﬁl
T fpa-it Ag-Td HvaT §, g0 UL SiTEl ¢Ed B, 3R T8l 3d, S I8 TR TGl BT FO@R 8, TR
g@mw%lsaﬁﬁﬁ-mﬁ%% U3 g1 W TEA S 3| |, ﬁﬁﬁmﬁ'éﬁ?ﬁﬁﬂﬁﬂﬁﬁ%l
H Ut 1Y Wewdr | gAR Ugdl 7EdT §, 99 W i Th-Uw o3t ® q1-gl, f-di9 ara usT e § fee g
S AT B4 31 & A Y Wa-%g A aed, Tare: U 81 13 g A & 1 A wre v €, 9 Su-
UR 391 ¥ H US WSd TN | 3R e 39 a¥E SU Al g, °f 950X 8, TR T weil 3R 79t | T[eeht-S3T
Q| SIGT B M FHTS & FUY F| aRaIG Hd 812’

ITYd TR BT UgHR A1 ID T Y BT IR ga133:
U - qH....qo" H T BT T =TI 7?2

1. faezrerm

2. ETT

3. freT

4. freTh

Correct Answer :-

8) '3H g 3N U, ot fRiqT-HR Ugd YeN! SR TP g 7 A1 SIS g1 BIS gH-W 81 ¢
it 918 Ug 9, TeT, TI-TR7 Y- 8T Wit ot & fargr 8 o1 9t wa-fe sife wisH usdt 8 iR @A
AT ST 8, a9 Bl ag faur 3t 31 iR Sl Fm B, 87, e & o Wil 31 §3-59 fagH W g
3iarot T8 fore wepd), SerTT i g XET1 3R # gl §, g9 e wien 8 i g9 dTw? W Wow e wd |
# fpa-il Ag-Td HaT §, g0 U1 SiTEl ¢d B, 3R T8l 3@, W I8 TR TGl HT FO@R 8, TRt
g@mwﬁlsaﬁﬁﬁ-mﬁﬁ% 9 g B T W 3@ R, ﬁﬁﬁﬁﬁﬁaﬁ?mﬁaﬁﬁél
H U g1 Wewdl | gHRI Ugdl 384T §, 99 W Wi U9-Ts 3o H gl-gt, d19-i+ |1e UsT Iga1 § for go
P 3TN Fd 81 fH T9 I Qa-Pe A aa, Tard U g1 132 g <t &1 & 9 I1a are €, 99 Su-
ws;ﬂa?ﬁﬁu%ﬂsﬁa@ﬁlWaﬁwmwﬁaﬁ%,aﬁm%,waﬁmahaﬁ?qﬁﬁgﬁﬂ-s‘m
Q| reT BT M HATS & TUY Tl RATG I 81?°



ITa TR BT UgHR A1 ID T UY BT IR 9aT33:
U - ‘g%’ eg BT 314 82

1. faeltH

2. 37

3. faaR

4. &

Correct Answer :-

o &Y

9) ‘g9 e el W, t fofaTh-+e Ted YT SR T g 7 31 SIS g BIS g¥i-@a e ¢
i dTe Ug &, 8T, TI-TRT T-@1 Y oot & fagr gt o1 @l wa-few offd wist usdt @ ok g
AT ST 8, a9 Bl ag faur 3l 31 3R S} Fm B, 87, e & o Wil 31 §3-59 fagH W g
3ol 1Y form A d, SieT @t g3 TET1 3R A g §, 7 fraq oien 8 fp g9t e offt @ A ad|
# fpa-it Ag-Td HraT §, g0 U1 SiTEl ¢Ed B, 3R T8l 3q, WY I8 TR TGl BT FO@R 8, TRt
IS o1 HR 31 307 AA-a8 814 &, T3 T $W & & qa@n 3, ﬁﬁﬁﬁﬁﬁsﬁ?ﬂﬁﬁﬁﬂﬁﬁ%l
H U IEt Wewmdl | gURIT Ugdl 64T §, 99 W Wi Uh-Uw 3ol | gI-gl, di-d19 aTd UsT ¥§dl § e gi
S 3 B4 B 6 gH i Wa-ge | e, a1 uTd g SeiRr? g9 Al ¢ € 7 | @vrd 8, g9 89-
1R 34t ¥ A U8 IS TN | 3R R 39 OXE S Wl 8, @ 48R §, TR Td Shai 3R wt | eeit-g 8t
Jal| gIeT B M HUTS F T Fil SRAIG Hd 812’

ST TR BT UgHR A1 T TT UY BT IR 9a133:
T - AgTa’ BT quETf g 1E @2

1. IRHH

2. FH

3. T

4. HH

Correct Answer :-

10) ‘59 a¥8 S TN, ot fiaf-4R vgd e ok we &% 7 3| Siiieht U WIS g¥t-Wa El ©
% it 912 Ue &, e, WI-A7 T-B1 Wt 3t & fag g one 1 et Ta-fee oifd Wi vsedt & ok
A ST USdT 8, 99 el gg faut et 81 3R ol @t €, 81, o Y o o1 1 w9-we fagr W =
3reft T8 v wepd), Serr ot R TeT! 3R # wear §, gH fraq aien 8 s gt e ot waes e A
# farait BT BT §, g0 U= 3ifEl 3@ B, 3R T8l ¢Wd, it g gen SiiEl 1 4R 7, Ter
IS T PR 31 30 AA-T9R B 3, AR T T IR o 3 @, A B e ok g1t AE A 7
# U ¢} Wewdr| gAR Ugdl 78T §, 39 W W Uh-Us Xt & q1-al, -9 9ra usT e § fse g
FA o B4 8 P g 9 Ba-%e § 9o, a1 U 8 wieii? g9t Y ) ) i 91 @vd €, 99 39-
YR 38t TS § U USd TEH | R g 39 ke SY Al §, dl 3gaR §, TR Id S 3R 7 | eeil-SST
Tl ITeT Pt M FATE & YA Fil SdIG Hd 312’

IUYE TEI= B TgH - U TT Uy HT IR Id134:
R - '® fhde Wa w1 § ¥ B Ot fopar @2



1. Ghdh

2. 398 § FIg T
3. 39T g
4. RAR

Correct Answer :-

11) ‘§9 7R 3l Uer, At Rigl-aR ugd YEHY 3R TP g% 7 A SR e HIE g¥l-9d Tl 8
% il TR ug &, LY, WI-IRT Tf-2R1 Wt 3ol & fagr & o | 98l a-fa ifd wis usdl @ ok
T AT UST 8, a9 Bel ag faur 3t 31 3R Sl Fm B, 77, e & o il 31 93-79 fgH Wy
3igioht et fora wepd, ST |l gX X511 IR & gl §, g8 e i &1 & g9 g ot o el dd |
# forait Ag-Td HaT §, g0 SIUHT SHTEl 3@ 81, 3R Tl 3d, ol I8 gRR! 3HTE] T U 8, ToR!

g@mwﬁlsaﬁﬁﬁ-mﬁﬁ%H@W$ﬁé@ﬁaﬁé@%ﬁﬁﬁﬁﬁﬁaﬁ?mﬁaﬁﬁél
H U g1 Wewdl | gHRI Ugdl 384T §, 99 W Wi U9-T& 3o H gl-gt, di9-i+ |1e UsT Iga1 § for go
P 3TN Fd 81 fF T9 I Qa-Pe A aad, Tarh U g1 S1siH? gt <t g1 & 9 e avre €, 99 SU-

ws;ﬂa?ﬁﬁu%ﬂsﬁ@ﬁlWaﬁwmwﬁaﬁ%,aﬁm%,waﬁmahaﬁ?qﬁﬁgﬁﬂ-s‘m
Q| reT BT M HATS & SUY Tl RATG DI 81?°

IUYe TR B Ugh? 1 YD T Uy BT 30 Td133:
7= - fpde T 32

1, JE3T

2. fagelr

3. dcH

4. grsT

Correct Answer :-

o facel

12) ‘59 %8 3ieh wgh, At foiait-+R ugd Tt 3R T gt 7 3| S ue BIS g¥t-w TEl @
% i TR g @, T, WI-IRT F-R1 Wt aideht & g & o 1 ge a3 oifd wish usdt § ok
WA T USdT 8, 99 el g faur 3melt 81 3N¥ ATl 71 8, BT, e &Y 3 ol 21 93-3S fagr it 3=
3t Y fora wehd, e i g ¥eT1 3R # Peal §, qH fbam oian g1 f g2t Ses +ft waw 78 dd|
# fpa-it Ae-Td HaT §, g0 AU STE) SWd g, 3R T8l 3@, N U8 ger TGl BT FO@R 8, g
g@ﬁﬁﬁg%lgﬂﬁﬁﬁmﬁ%% 9 g1 I 3T W ST B, ﬁﬁt‘ﬂﬁﬁ»—daﬁvsﬁﬁaﬁ?f%l

# U 8) wedhdl | AN Ugdl AT §, 89 W Hi TH-U& &Xel | ql-gl, i~ 61 UST ¥l § fbe gH
P 3TN FA 81 fF g9 A Qa-Pe A aad, Tard U 81 Ssii? gt dt &) & i e e €, 99 Su-
ws;ﬁaﬁﬁu%asﬁ%ﬁﬁl&mgﬁwmwﬁaﬁ%,aﬁw%,waﬁmaﬁaﬁ?nﬁﬁgﬁﬁ-m
Qe | gIST B M FHTS & FUY Tl GEIG HId 812’

ITYad TR BT UgHR -1 I T UY BT IR 9aT33:
U - BIE TS A I8 HTE &) 7T Ha HH 78 S|

1. Tl STl



2. forehe Weld
3. 3led
4. AgAd A

Correct Answer :-

. fohdhe @erd

13) ‘59 a¥8 S U, o fiaf-+R vgd Nt ofR ue g% 1 3| Siiish ug Bis oW E1 8
% it 918 Ug &, LY, WI-MRT AR-BRT Wt 3l & fag g ona | et Ta-fee oife wisH usedt & iR
WA AT USdT 8, 99 $al g faur 3meft 81 3N el 71 8, 8T, e &Y 3 ot 81 93-7S fagr i 3=
iUt E forg Ao a, St af gr T@T1 3R & wgal §, U fha- gian g1 fs g9t das oft was =181 ad |
T fpa-it Ag-Td HraT §, g0 U1 SiTEl ¢d g, 3R T8l 3@d, W I8 TR TGl BT FO@R 8, TRt
IS BT FR 31 59 AA-TAR BN B, T2 T Y IEA o Qi g, ﬁﬁﬁ%aﬁvaﬁﬁaaﬁ%l
# 9T T81 Beddl | §HRI UgdT ¥edl §, 99 W H te-us et # qi-gl, di-di= ara usT ¥gan g fhr qd
S AT B4 31 P A I Wa-%g A aed, 1) U 81 SI13ir? g A & 8 A wre o €, 97 9u-
YR M 7o # U2 Wed @R | 3R R 59 @vE S a2, dl 98 8, 9% Ia s 3N 7t & eeil-geT
Jdl| gIeT B M HUTS F T Tl SREIG Hd 812’

ST TR B UgHR A1 YD T Y BT IR ga133:
W - U TR T SUgad XMu® g1 qahdr 82

1. 93 S Te

2. Tohehe

3. Ageld
4, Fol-dqaTY

Correct Answer :-

. §3 WS dEd

14) ‘39 e 3Aeht wGHY, ot foigmh-+R uga TSN 3R TP g T | Sl Ue B guft-We TE @
% it 912 Ue &, e, WI-MRT TR W 3l & fag g oine 1 et Ta-fem oifd Wi usedt & ok
WA ST USdl &, a9 ol gg fauT 3t 81 3% 3meht 7 8, 8, Po Y 31 el 81 79-w9 fagr W g
3ol T8 for wepd), Serr ot g TeT! 3R # wear §, gH faq aien 81 s gt e oft e e A
& fra-t AgTd Fa1 §, TH AU TGN 3@ 7Y, IR &Y @, Y Tg gt 3ifal o1 R 3, gt
IS 1 PR 31 30 AA-T9R B 3, TR T T I S 3 B, A 8 e ok g1t A A 7
H U 15} Beddl | GHRI Ugd 36T §, 89 WX Wi T3-U& o3t § §1-gl, Wi~ |1e UST ¥gdl § fhr g/
A T Hd & P U U Da-Pg A a9, AT U g SIS g9 o) & @ i 9re @ €, 39 Su-
WR 33 ¥ 7 U Wed TN | 3R R 39 a¥E SY Al 8, ot 9geR 8, TR T wreil 3R 79t A [eeht-g3T
Q| reT BT M HHTS & TUY Tl RATG I 81?°

ITE TR Bl Ugh A U T UY BT 3T Id183:
U= - U TR | 3@ Wwie-! usdl 8 ¥ 1 aread 82
1. 8l HAGeTd el

2.3 H J_Lo\ioi CEIRSIGH




3. 3@ W &aT

4. 1@ T g7 ST

Correct Answer :-

o HI AGAd HAT

15) ‘39 @E 3% TSI, af fRigifi-4R ugd TN 3R U g 7 3| 3Rl ugHT #Ig gi-1d T8 @
o St =R U @, e, TI-TRT TY-@RT A 3o F fagH g od | gel va-fe oif| wis usdt & ok
W ST UST 8, a9 ®el ag faur 3imell 31 3R 3l F1 8, 87, e & o Wil 31 93-73 fagH W g
3ol 78T fore wehd, S At gr 811 3R # Hgdl §, g fobaa aien 81 & g3 d@e +ff was = dd|
T forait Ag-Td HaT §, G0 MUt STEl ¢@d g1, 3R T8l ¢d, Wl 98 gRR! 3iTEl T U 8, ToR!
S T HHR g1 T HA-a9R g 3, TS o it I oI daT &, ﬁﬁiﬂﬁﬁr«:aﬁwmﬁaﬁ%%l
# U gt Wewdl | gAR Ugdl 7§dT §, 99 W Wi Th-Us 3t # q1-gl, FiH-di9 a1 vsT vear § fee g
F = B 71 fF qH 9 Da-pe A 999, Tare 9 g J1ei? gl af € 9 91 e 8, 99 $Su-
YR 3t T § 7S Wed TEH | SR g% 39 ke SY Al 8, A 35N §, TR Id W13 3R 7S | eeil-SST
Qe | gIST B M FHTS & FUY F) GEIG HId 812’

ST TR B UgHR A1 ID T Y BT IR ga133:
W - U TR o1 faen o <t 32

1. AT

2. 39=ITH

3. gl
4. e

Correct Answer :-

16) HYR-HAYR W Iy oian
- fafe wfaeror ufoue
s &1 9y Sraifea H
TRY Har faga gu a9
Tgd HIY-1 g4 ¥, Jg-a-!
3 v o1 Ry sraffir,
A Sfta= &1 3] TE-TTd
Ja®-Jad AR U Sat
ar faa sEa Taq

AT 78 TN aTe BU;
fay-sau RR T pgar &
B, 9 oTd UTaT g fien



Rrgr-RigR W dus s

ITdad U B U 19 U T Uy P 3w IdIgd:
- 3T’ BT qgraard g1 o2

1. 3STTel

2. A-YhT

3. 318 A HIg AGT

4. dHh

Correct Answer :-

17) AYI-AYT #Y A9 Sl
-7 yfafest wfcaror gfaaer
Rraw 1 oy srefra w1
wher Har RAger qg a7

A AHA-AT g I, G-l

& warer w1 Ry 3R,
N Sfraer H1 3797 areT-aTeT
qels-gelsh AY &9 STell

ar fiaer e o

39YFd YGIIRT Y YGHF A g AT WA FT Io) qaABa:
WS- G UiFd # ‘SATET FT AR 2

1. 30T ¥

2. 9fAa e &

3.3 |

4. 31 AfAT I &

Correct Answer :-

o AT For |



18) AYT-AYY A &ush el

ar-gar yfafeer gfaeror gfager

Rraasw &1 9y srafFa &

wher Har RAger qu a7

AG AA-A g Y, G-l

& warer &1 ey s,

N et #1370y TreT-1d

qoh-eld A O el

ar effqer FAT T

AT I§ JHAA ATl FOT;

faRg-erersr AT g1 Fgar &

B, T S 91T g fAe

fRE-Re N fuw s

3YYFA ISHIA FT YGHT AT I AT oA FT 3R TS
eeT- W Ui & Iuwe fhw weg F g g
1. shaol el

2. shael gfafesT

3. hadl Yidefor

4. 39U Fqfr

Correct Answer :-

o 3WIFd T

19) AYT-AYT A 9 Sell
-7 yfafesr gfaeror gfaaer
Rraas &1 gy sreifra
wher $ar RAger qo o7

g AA-AT geT Y, Fg-c=ll
& warer #1 Ry aaRfAg,
A Sfraer F1 3707 ITeT-ITCT
qo%-geF A IF el

ar effaer FAd T

Ao @ JH@ AT FOT;

freg-ererer AT 47 Fgar &



§, T ST 9T A e

Rge-feT aY fow sren

39YFd YGIIRT Y YGH A & AT WA T Io) qaBA:
YeT- ‘Hge AA A A FT A ISR §?

1. 39AT

2. §9H

3. 3cHeT

4. §9e

Correct Answer :-

20) AYT-AYI AY U ol
-1 gfafesr gfaaror gfaaer
Rraasw &1 9y srafFa |
wheer Har RAger qu o7

AG AA-A g I, F{g-dll

& warer #1 ey aaRfaa,

N SNt #1 3707 TIeT-1T
qoh-Jeld A O el

ar effaer FAST T

AT @ JHAA ATl FOT;
frea-ererer R o Fgar #
B, T Sl 9T g fAe
fRE-Re N fuw
3YAFA ISHA FT YGHT Al T AT WA FT 3R TS
YReA- ‘FGer USE HT AT B2
1. g

2. GRT

3. PHA

4. ehsdl

Correct Answer :-

o HIAA



21) AYI-AY A &9+ el
-7 yfafesr gfaeror faaer
Rraas &1 gy sreifra
wher $ar RAger qo a7

g AA-AT gl Y, Fg-=ll

& warer w1 Ry 3R,
A Sfraer F1 3707 ITeT-ITCT
qos-geF A IF el

ar fiqer Fa o

Hiar I JH@ AT FOT;
freg-ererer AT 47 Fgar &
T, T ST g Jera fAen
fEe-RET A dow s
39T YGIIT Y YGH A qF AT WA T Fw) IR
wee- ‘wfafe & 3wt &2
1o

2.9

3. 9fa
4, &

Correct Answer :-

22) AYR-AYI A UF el
ar-gar yfafes wiaeor gfauer
Rraasr &1 97 sreifea w1
wher Har RAger qu a7

G AA-A g Y, G-

& warer w1 Ry IR,
N Sfraer FT 307 IreT-TCT
qoh-els A Qs el

R el FHAA e



AT I§ TSR ATl FU;
freg-erarsr AT g1 wgar &
B, T ST g Jera fAen

Rge-few A fow sen

39YFd YGIRT Y YGH A g AT WA T I) qaABA:
wee- §ReT &1 7Y §:

1. Sl

2. gaTer

3. Sh&UTT

4.91g

Correct Answer :-

23) AYT-AY A U ol

Zor-gar gfafes wfaeror gfader

Rraasw &1 9y srafFa &

wher dar RAger g a7

AG AA-A1 g I, F{g-al

& warer &1 ey aaRfaa,

N et &1 3707 TreT-a1ed

qo-ged A I el

ar effder AT T

AT I§ JHAA ATl FO;

faRg-erersr AT g7 Fgar &

B, T Sl 9T o fAe!

- N o s

3YYFA TSI FT YGHT AT I AT oA FT 3R TS
weeT- 'ERET.. T & # 47 FEa @ 741 AAT 2
1. 9, I[elrel

2. fezm, \v e

3. 49, 3R

4. YTH, di9



Correct Answer :-

24) AYT-AY AY U ol

-1 gfafesr gfaeror gfaaer

Rraa#w &1 9y srafFa &

wher Har RAger g o7

G AA-A g I, F{g-a

& warer #1 ey R,

N SNaar F1 3707 TreT-1d
qoh-Teld A e el

ar effder AT T

AT @ JHAA ATl FO;
fea-ererer R o Fgar #

B, T Sl 9T o fAe!
- N fuw !

3YAFA ISHIA FT YGHT Al I AT WA FT IR TS
weeT- ‘e A ufFa & F F7 smew B2
1. 3§PR

2. faaT

3. 39y

4. 39elcad

Correct Answer :-

25) AYT-AYI AY &I+ el
-7 gfafesr gfaaror faaer
Rraas &1 gy sreifera
wher ther RAger g7 o1
gl AA-AT geT Y, FHg-c=ll
& v 1 Ry aaRfag,

A Sfraer F1 307 areT-TCT



qoh-gersh A §aw el

ar offad FAS T

AT I§ TSR ATl FU;
freg-ererer AT 47 Fgar &

B, T ST g Jera A
fer-Rer AR duw

39T YGIRT Y YGH A qF AT WA FT F) qAB:
YeeT - Fafdt F &g F1 FAT om &
1. G Hr

2. faaT &

3. faaerdr &r

4. FEAT Y

Correct Answer :-

26) AYT-AYI A U ol

or-gar wfafes wfaeror yfager

Rraas &1 gy ameifea w1

wher Har RAger g a7

AG AA-A g Y, G-

& warer w1 Ry IR,

N Sfraer FT 307 areT-TET
qo-ged A I el

an effder FAS T

AT I§ JHAW AT FOT;
fareg-erersr R 41 Fgar &

B, T Sl 9T o fAe
fe-fgT N duw s

3YYFT ISHA FT YGHT AT I AT oA FT IR TS
W - YA Fidar FAT 9o o 72
1. Qe T T &

2. gfauer Steld T@aT



3. FeT I FIHT P qOT HI&AT
4. 7T T QU I AR GAI N THIA Sl

Correct Answer :-

o A TR EUF HT el GH I T oAl

27) AYI-AYI AY &9+ el

-7 yfafesr afaaror afaaer

Rraas &1 9y srafFa |

wher $ar RAger g o7

gl AA-AT gl Y, Fg-c=ll

& v #1 Ry aaRfag,

N SNaar F1 3707 TIT-T1T

qo-geF A IF el

ar offad FAA T

Hiar @ JH@ AT FOT;

freg-ererer AT 47 Fgar &

T, T ST g Jere fAen

fer-Rer AR duw F

39T YGIIT Y YGH A qF AT WA FT Fw) qaqBA:
weT - Ruad eeg F1 TAT 981 W FafE o fFad v e &
1. AR

2. 39X

3. 9l

4. 9HA

Correct Answer :-

. S

28) AYT-AYY A &9 el
Zor-gar yfafesr wfaror afaaer
Rraas &1 97 sraifea &
wher Her RAger qo a7

A AHA-AT g I, F{g-d!



& werer 1 Ry 3R,

N SNaa F1 3707 TIWT-TT
qoh-gad A I el

ar fiqer Fa o

Hiar I JH@ ATl FOT;
freg-ererer AT 47 Fgar &

B, T ST g Jera fAen
fE-RET A duw s

39AFT ISHA FT GGHT Al T AT NRA FT 3 T8
TR - ST eg HT AT AT B2
1. ST

2. QAT

3. Foellel

o

Correct Answer :-

29) AYR-AYI AY &S el

Zor-gar yfafesr wfcaror faaer

Rraas &1 gy ameifea w1

wher Har RAger qo o7

AG AA-A g Y, F{g-al

& warer w1 Ry IR,

N Sfraer F1 3797 areT-TeT

qa-gard A §us STl

R el FHAS e

AT I§ AR ATl FOT;

faea-erersr AT g Fgar F

B, T Sl 9T JaH fAe

Rge-fe aY fow sren

3YYFT ISIIA FT YGHT AT I AT oA FT IR qAB:
TR - WA F AN F g F AT FA1 9IS {2



1. STt T

2. TR &k
3. eIl &hr

4. SqTel T

Correct Answer :-

o rfFaRITel Qe

30) AY-AYT A Qus e
Zor-gar gfafes wfaeror yfager
Rraasr &1 97 smafea w1
wher Har RAger qg a7

AG AA-A g Y, G-l

& warer #1 ey A,
N et #1370y TreT-1d
qo-ged A I el

R el FAA e

3YYFA ISHIA FT YGHT AT I AT oA FT IR TS

TR - AR e F S & fav Fafdsh w4t #77 & 2
1. 32 § TR &

2. O & 39&e=TcT g

3. Hel hr 3R Gt & faw

4. 3T gl

Correct Answer :-

Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz . It is equivalent to: /



F 49 ¥ 3curfed aer 1 3mgfa 50,000 g€ (Hz) §1 I% e & @AW @
1. 5kHz / 5 forarged

2.50kHz / 50 forcligest

3. 500kHz / 500 fheligest

4. 5000kHz / 5000 fohaiged

Correct Answer :-

. 50kHz / 50 faigds

The following are the pH values of some commonly known solutions:

Substance. pH value.
Acid rain 3.6
(Gastric juice. 1.0
Lemon juice 25
Tomato juice 41

Which one of them is the most acidic? /

farfafad $o Ad faeg«l & pH A &

ggrat. droT A
HFeT gur 3.6
HHERT 1.0

oflg T 2.5

TATCY &7 T8 4.1

ST U T Tely Afed Il g7

1. Acid rain / 37l g
2. Lemon juice / o'-ﬂ’ql'\ T ™
3. Gastric juice / JTHRI &

4. Tomato juice / THTCY I TH

Correct Answer :-

 Gastric juice / 3THRT T



The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

e = glr-aag a% v el §5% & | a1 Ay a5& X 3R v & e &b
goltar 21 Peafafaa & § Filaar Faa eg 82

distance
Y

time

1. X takes more time than Y to cover a particular distance. /

T fARYT gl & 7 T & faw X &1 Y & 386 FAF o91aTr g

2.'Y takes more time than X to cover a particular distance. /

T fAfRad gt & a7 # & fAv Y & X & 3486 §71F o9rar g

3. Bike X covers more distance than Y. /

qSF X, a5 Y AT 39aT HF g aF FA g

4. Bike X moves faster than the Bike Y. /

g5 X, 9i8sh Y fr 3r9eT 3@ O

Correct Answer :-

« X takes more time than Y to cover a particular distance. /

U fAfRad gt & 97 =T & v X A1 Y & 34f0F g7 o9rar g

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the
position of crane is: /

STl @ed m fS9d WRA (F), IS TAaF (phyto planktons), e 3 HAG
g, oot o1 Rufa gef-

1. I trophic level / I GifScahdr TaX

2. 11 trophic level / II Tif¥edl TR
3. I1I trophic level / III Qf¥ehdl TR

4. 1V trophic level / IV Tiffedr TR

Correct Answer :-

« 1V trophic level / IV QIfPdhdT TR



5) To teach diverse, difficult to understand concepts in science, a blend of text,
audio, animation, video, still images or interactivity content forms can be used.

This method is known as: / fJdaieT & fafaer, gasa & Ffoa raurRom3T &'
9 & fAT, eoee, e, vfasrers, difsa), ux sfaYy & fsor an
SR ramefierdar Rwg-aeq wi &1 3v@er o1 @Far 31 5@ Ry &
gl AT ¢

1. Information and technology communication enabled learning / {daiT 3R

e hr FaR FeTH T
2. Multimedia approach / HecIHI[SAT EicHhIvT

3. Documented problem solving / Jelll&@d THATAT-GATITA
4. Video clips /Eﬁ%@[w

Correct Answer :-

. Multimedia approach / HeeIHITSAT TTochIuT

6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius
of curvature of the mirror will be: /

ag # TF 3qa quur dr AT TS (focal length) 15 @ B1 1@ 3 ot F gamm
ST §, 9T & gshar 1 B gl

1.30 cm/ 30 9H
2.7.5¢cm /7.5 99
3. 45 cm / 45 9

4,15 cm/ 15 IH

Correct Answer :-

« 30 cm/ 30 9H

7) Lightning conductor is a device used: /
afsa gres (AEefAIT F3Fe) Th YRV FT STIATA fHAT AT §:
1. To protect the buildings from the effect of lightning /
SARA! &l dfsd & 9T & 91 & fau
2. For communication purposes /

TIR AT & fow



3. For forecasting the forth coming lightning and thunder /

3T AfST 3N TR (UST) T AT ol & oI
4. To store the electric charges produced at the time of lighnting /

dfed & T Idiad fagga 3=l & dufed &= & forw

Correct Answer :-

 To protect the buildings from the effect of lightning /

SARAT I disd & THIT & d9 & fov

8) Which of the following contains more roughage? /

feafaf@a @ fFad s Aer =T (roughage) fAfea gyar 14
1. Fish / Aot

2. Milk /gy

3. Leafy vegetables / TieR Afesl

4. Meat / g

Correct Answer :-

« Leafy vegetables / UigR qfesrar

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands
on them because: /

G F U] & T W RSl HT AT T Jorenm H AUF 331 AgHH §I I 380A
I gt F 3W W I@T T

1. Wood conducts more heat energy than metal plate. /

AHN, YT F TAT R I H S FeaAT Foll T TATeleT Al &l

2. Her body temperature is less than the temperature of the wood and greater than that
of the metal plate. /

IP IRR BT AUHA Aha! & dIHH F HH 3R o] & e F 3P g
3. Wood is more hotter than a metal plate. /

ddel, UTd Pt @ &b gaqT 7 e T gt ]

4, Metal plate conducts more heat energy than wood. /

U] & Wic, dhal &I o # 3w ST SHoll BT e el g

Correct Answer :-



« Metal plate conducts more heat energy than wood. /

UTd & Wic, Aho! &I Ja-T § e ST SHoll BT Tare Rl g

10) Proteins that regulate all chemical reactions of the body are: /
W S R 1 weft A sfRfRant & @uaha & §
1. Blood / &

2. Lymph / o &Rl

3. Hormones / gTAfT

4. Enzymes / USITSH

Correct Answer :-

« Enzymes/ TSTSH

11) Which of the following motivates a learner to learn? /| fA=afaf@a &
¥ Fia-ar yfte & Qv vF RNawedt F IR Fwar §2

1. Interest in the topic / fdwr # ¥fr

2. Repay / ar9d &3 (R9)

3. Lots of homework / 3/ca & W
4. Easy questions / 3THTeT HdTel

Correct Answer :-

« Interest in the topic / faw & sfr

12) Kelvin is the unit of: /
Ffeas sadr 3=1s &

1. Pressure / qaId

2. Temperature / dT9HTT

3. Heat / 3®AT

4, Humidity / 3TGdr

Correct Answer :-

o Temperature / ATIHTT



13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning
of the vehicle.

Which one of the following acids is used in such Batteries? /

FSAEST e F FHFS & AT Regga st At aqfd F & v FRIF @«
# @) F AT FA F

3H YhR & @ § FF T F§ & Fla-ar 3 &1 y3@er Far sar @2
1. Phosphoric acid / BIEHIRG 37Fa
2. Acetic acid / TfAfesw 3Far

3. Hydrochloric acid / gI8glFeilieh 31Fol

4. Sulphuric acid / ¥R 3HFd

Correct Answer :-

« Sulphuric acid / H(vhrq‘\ﬁch el

14) Choose the incorrect statement among the following. /
farafaf@a & @ 3weT FaaT F7 997 W
1. Metals are electropositive in nature. /
aTq yfd 7 faggd ueiens gid ¢
2. Metals are sonorous in nature. /
aTg TSfa 7 e @l ¥
3. Metals reacts with dil. acids to produce hydrogen gas. /
BISSIolel I T 3cUIGe el & ToIU UTqU ofe] 31FcT & AT HTATHAT AT &
4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

SIS e JieFdISTel & @Y JHATHAT S g, I 3Fargs H1 AT gien g1 e
el &7 FT foledmd ol 8 ST &

Correct Answer :-

« The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

SIS e JieFdIStel & @Y JHAHAT S §, I 3Farss 1 AT gier g1 e
Aot T FT foeamg o & Srar &



Identify a non-metal which has metallic lustre: /

3 IuTq @ ggHe wY, e aifcas T g @
1. Phosphorous / BIEHRH

2. Todine / HTAET

3. Sodium / Af3TH

4, Sulphur / eI

Correct Answer :-

o lodine / 3TAET

16) The device fitted with an automobile to show the distance travelled by it is called: /

aTee @RT AT @Y AE g g F faw w77 w fre R s 8,39 war
ST &

1. Speedometer / TBTHEI
2. Odometer / 3BIfHET
3. Lactometer / ol&FclHIC

4. Hydrometer / gI831HIEX
Correct Answer :-

« Odometer / 3MAT

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and
the other is concave. If the two lenses are kept in contact, then what is the focal length of this
combination?

ar |l A @ S & ura F1 IRATOT 2D §1 o6l & & v 37t § AR g@ raqer g1 g ar
oI 1 TUH H W@ 1A, A §7 G Y Bishel oiarg et 82

1. Infinite / 3l

2. Zero / (e

3.4

4.2

Correct Answer :-

« Infinite / 31



18) The credit of green revolution in our country goes to: /
AR 3 A gRA FHifa &1 AT I §:

1. Dr. V. Kurien / 3T. dT. $RTe

2. Dr. H.G. Khorana / 8T. TS, @RI

3. Dr. M.S. Swaminathan / 3. TH.TH. ETHIATYT

4. Arya Bhatta / 3T HACC

Correct Answer :-

« Dr. M.S. Swaminathan / 3T. TH.UH. EaTHIATAT

19) The magnetic effect of electric current was first observed by: /
e 4T & I ToTa Y FAWYA Fevah SR AfErT fram arar o
1. Andrew Ampere / Us?;r\ TFIRR

2. Alessandro Volta / TlHgl dleel

3. Hans Christian Oersted / g8 fopi¥aae 3Mes
4. Michael Faraday / #ATSehel UTS

Correct Answer :-

« Hans Christian Oersted / 8§80 fhfdader 3NEs

20) The strength of the sea breeze depends on: /

FAN a1 Y yEsar 3@ W AR w8

1. The temperature difference between the land and the ocean / 3{\% 3R g & dIIHATT &
T & FR W/

2. The direction at which it blows / S8% g« T f&om o

3. The level difference between the ocean and land / Q:I?j,a AR 34‘@' & T & OT & IR
°rg

4. Amount of water vapor present in the atmosphere / dIdldRUl | ﬁ\_:lj‘{ EREINEIRIEIRH

Correct Answer :-

« The temperature difference between the land and the ocean / 34@ IR qHG & d9HATT &
9T & AR W



21) The power of earthquake is expressed in terms of : /
s Y e F s A o B

1. Kelvin scale / hfodsT Tohel

2. Celsius scale / Bfedaad Fhel

3. Richter scale / R Tohel

4. Romer scale / THAT Tohel

Correct Answer :-

« Richter scale / ReFeT Thel

22) An electrical cell has: /
F faega ¥ # g &
1. Three terminals / e iAol

2. Only one terminal / Fhael T TfieTd
3. No terminals / afré AP G a_-l'fapf
4. Two terminals / @ cfHeTeT

Correct Answer :-

« Two terminals / &r Ar:Grl

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the
element. /

TF dcd 'X'H 4 Fggiar AR 3 wield §1 aca F FE qASRAr A ggdT Fw
1.4
2.3

3.2

4.1

Correct Answer :-

24) Pick the odd one out. /



& v g

1. Air / gdT

2. Mixture of sugar in water / GTeil 3 QUeFny ohl fHSOT
3. Mixture of oil in water / 9Tl # ol ST TAHOT

4. Cold drinks / &t 91

Correct Answer :-

« Mixture of oil in water / 9Tl & deT T THSOT

25) When the force is doubled and the area is halved, then the pressure will: /

99 9 QN[AT X far Jrar ¥ 3R sAwe mear w0 R S g, ot arn

1. Be doubled / Efl?lﬂT g e

2. Become one fourth of its original value / 379eT AI&dTdeh AT T Th AIATS g STAN

3. Become four times its original value / 319s dREd{deh AT FHl AR eT g ST

4. Be halved / 34T 81 STRRATI

Correct Answer :-

« Become four times its original value / 379e] drEdideh HIT HI IR edT g ST

26) When a paste of starch is added to boiling water, the type of system formed is: /

SI9 HE (starch) HT TH UFC 39dd Ul & STl SATGT @, aF I qrell YOITell T YR
&

1. Colloidal solution / eSS [Aelded

2. Suspension / foredeT

3. True solution / ITEATdS A=

4. Dilute solution / de] fderzrst

Correct Answer :-

« Colloidal solution / lellSsel fdera=

27) When carbon dioxide is dissolved in water, the solution turns .

99 FTal SEIAHFAES At F g S 5§, @ Fewer qgerar gl



1. red litmus to blue / ool folcHT &1 el #

2. blue litmus to red / sitet foledad &l offel &

3.no change in the colour of litmus / foead & W H FS IRGIT @
4.into a yellow colour with methyl orange / Afder 3 & 1Y drel T[T H

Correct Answer :-

« blue litmus to red / sitel foleHd & oTel &

28) Which one of the following is the appropriate unit which is used to measure the volume
of Refined oil taken in a container? /

famafaf@a & @ sla-ar sugea s ¢ Ows e wF i § afsga do i amn
F AGA F o fmar smar &2

1. Kilogram / fereltams
2. Nanometre / sleil#HIC
3.gm/L / AH /| X
4. Litre / oliex

Correct Answer :-

o Litre / olfeX

29) Which of the following is not a shell fish? /
rfaf@a & ¥ Fla-a1 Faaury AST (shell fish) 5T &2

1. Crabs and bobsters / hehaTl 3R STaEeX

2. Mrigals / #3Tel

3. Oysters / 3T8¥eX
4. Octopus / 3iT&Ferqd

Correct Answer :-
« Mrigals / HdTel
C

30) Which of the following is an example for diffusion of a solid into liquid ? /
fArafaf@a # & Fia-a1 3 & R H TR FT F 380" §?7
1. Ink into water / 9Tt H TITET



2. Carbon dioxide into water / Gl H FHIdel SBHTFATSS
3. Oxygen in water / 9Tl & 3iTeFdIote
4. Copper sulphate into water / UT=il & IO Tohe

Correct Answer :-

« Copper sulphate into water / Uil & HIIX Tohe

31) Which one of the following solids is used as a drying agent in bottles containing medicinal
tablets? /

fafaf@a & ¥ frw sl &1 e sitweiir aMfeat ae diqel #§ OoF @S T FRA F T A B
e &2

1. Calcium carbonate / Hfcaas FEfae
2. Sodium hydroxide / Tf3TH gE3FAES
3. Quicklime / ﬁﬂ'ﬁ:ﬁT el

4, Silica gel / faferr Ster

Correct Answer :-

o Silica gel / faferdr aar

32) What kind a learner is a child who seems to learn best when carrying out a
physical activity related to the subject? / 9§ S=dT f&® g &1 fRrameft grar
¢ o e Rvw @ wafd sifas $1F F1 Fd gr Tow 3eoT da@dqr g2

1. Visual / T2 (Ta3[37eT)

2. Aural / HUT (3TeT)

3. Kinesthetic / IITAHAET (FISATATCH)

4. Reading/writing / GoeT/at@el (RfSaRTSET)

Correct Answer :-

« Kinesthetic / IIfAHAET (FIZATATCH)

33) The chemical name of washing soda is: / T WST FT THAF ATH

T
1. Sodium carbonate / GIEIH FIafaAc



2. Sodium hydrogen carbonate / 3T gIS3Iole] FIElic
3. Sodium hydrogen sulfate / qifsgH 6I$§\IUI"I gethe

4. Sodium sulfate / FSTHT Jetbe

Correct Answer :-

. Sodium carbonate / TEIH FEfac

34) Which of the following are the objectives for science education at higher
primary (V, VL, VII) level? / 3T 9T4f&® (V, VI, VII) TR & faaror
Rgafdat & fav Amafaf@a 7 @ #la & 357 &2

1. Observation, induction and deduction. / TARTI0T, 3RTAT 3R FerHT
2. Knowledge, comprehension and application. / JATeT, HHAST iR HW

3. Receiving, responding, valuing and organization. / 3iT&anfedr, afafsrar,
Hodiehel AR FIrdA

4. Receiving, responding and valuing. / 31fHamgY, gfafshar 3R F!(\Féil'lih_o-r

Correct Answer :-

- Knowledge, comprehension and application. / JTel, HHSA 3R 3-1?:ID'§|'€I>I?T

35) If the momentum of a body decreases by 20%, then its kinetic energy will
decrease by:/

IfE TF TEG FT AT 20% U 1T ¢, A FWE AT Foll FA g AT
1.40%
2. 18%
3.36%

4. 8%

Correct Answer :-

+ 36%

36) Which of the following cannot be used in mixed cropping? /

faf@a #  FaT 3N AP vad & T8 FA7 1 IFHdr §7?



1. Ragi+ mustard / IET + TX&ET

2. Wheat + gram / 91§ + el

3. Wheat + mustard / g + &&t

4. Soya bean + pigeon pea / A€l + 3REI I Glol

Correct Answer :-

. Ragi+ mustard / IET + TX&ET

37) Tracking the learning process during the instruction period is

which type of evaluation process? / 3ifRRTH ufssar &1 fAd=r sraftr &
IR ¢ BT frdy YR Ft Geuip uferar 872

1. Formative evaluation / 3ira=nies W

2. Summative evaluation / JPMcHSD J—I(\vdicho-l

3. Placement evaluation / TTelel H\Fﬂ'lﬁ'

4. Diagnostic evaluation / &I T

Correct Answer :-

. Formative evaluation / 3= H\VZI’|$°_'|

38) Curriculum is a complete plan for of educational aims. /

Aerors Seedl b ¥ forg UTeusH T quf e |
1. implementation / HRATaTT

2. understanding / HHSA

3. evaluation / ﬂ‘\?"II'IEhT-f

4. visualization / heUdl

Correct Answer :-

. implementation / STATeadeT

39) Crop rotation is a practice to grow on the same field. /

YRY 3T9dT (Crop rotation) U& &1 Aar & IUSH B ufdpar 2

1. two or more crops together/Eff gr ar ¥ 38 wad U iy



2. two or more crops in definite row pattern together / Afaa oigg dea H o a1 & ¥ 3¥H
B Teh I

3. all the above / IURIad g+

4. a leguminous crop between two cereal crops/?fl' 37ATST dTell ATl & o1 Teh HolgR Baol

Correct Answer :-

e a leguminous crop between two cereal crops/Efr 37TST dTell Bl & a1 Teh HelgR

40) One of the statements made about consumers is incorrect. Identify the same. /

SUYIFIISH & AU § TP HYF Tad g | STB! UgaH L |
1. They cannot manufacture their own food. / & 39el HISTeT bl faAToT Tel Y Fehd |

2. Chemical energy is obtained from outside./{l{-llqmch Sl dlgY ¥ 9red ad %I

3. They do not have chlorophyll. / 3a7& 9TH YUIgRA FaRITh) o1l aidT &)
4. They take in CO, and give out 0. / O CO, Ugll Hd & Ud 0, Jed gl

Correct Answer :-

« They take in CO, and give out 0. / d CO, UsgUl HYd § U 0, Jed gl

41) One of the processes that involves the consumption of CO; is: /
CO, @ Wud # xMfaa uitrarsi d 9 t® 3:

1. Forest fires [/ SITA &t 31T

2. Photosynthesis / YhIR] BEGLY]

3. Respiration / HId-

4, Combustion of substances / QET%ITW a6

Correct Answer :-

 Photosynthesis / UhIR] REGLYI

42) What is meant by intervarietal hybridisation? / mﬁiﬁf HDHI0T (?;E?H'ETI?[

gTsfafEar) &1 @ arf 82
1. Crossing between different genera / TaTeed SIeRT & T SPITRAT
2. Crossing between different varieties of plants / Tl &7 fRea-fPeaT freAr & ST HIiQaT



3. Crossing between genetically dissimilar plants / 3TafI® ®T J SGAM W&l & o BRI

4. Crossing between two different species of the same genus / T &I S99 & &l 49-fF Torfaal &
S IR

Correct Answer :-

« Crossing between different varieties of plants / GitlT &1 Aed-fAeaT freAl & ST HITQaT

43) what is the literal meaning of the word “Science”? / "ﬁ?ﬂq" et T YMfecd
3rdf w1 82

1. Experiment / 5191

2. Knowledge / 3TeT

3. Wisdom / e ferear
4. Logic / de
Correct Answer :-

« Knowledge / 3TeT

44) Three resistors of 12 ohm each are connected in parallel. This combination is
connected in series with a combination of two resistors of 3 ohm each in series. Find the
net resistance of this circuit. /

musﬁn(ohm)*mqﬁﬂwmﬁzm#@?g%lwmm#
yds 3 A & o) gfaul & FAeT & WY s@er H 31 g0 §1 56 IR9T F ey
gfaier AT

1.10 ohm/ 10 3|
2. 5.5 ohm / 5.5 3{1H
3. 42 ohm / 42 3iH

4. 15 ohm / 15 31H

Correct Answer :-
« 10 ohm/ 10 3{/H

45) Ability to define an event in one’s own words and language is an indicator of : /

?ﬁﬁmﬁﬁ%mmﬁeﬁvwﬁvﬁmmﬁaﬂmmww

1. Providing explanation / TISEIHIUT Y&TeT hladl



2. Communication skills / IR hIeTeT

3. Value/Attitude / Jed/H-Ighd
4, Experimentation / TN

Correct Answer :-

. Communication skills / TR hiereT

46) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /
gedl T FaE F AT FEAT qarT AT gavafa qger v Fwre qwE w1 ae

1. Charcoal / TRl

2. Coke / Pl

3. Petroleum / USIToIgs
4, Coal / &IIaT

Correct Answer :-

e Coal / rIaT

47) The near point for a normal eye is at a distance of: /

TS I 7 & g fAee fag #1 g8t @:
1.30 cm from the eye / 99 9 30 9!
2.20 cm from the eye / 97 § 20 JH!
3.25cm from the eye/eﬁ@f 25 Tt

4.23 cm from the eye / 99 ¥ 23 IHt

Correct Answer :-

« 25cm from the eye / 93 ¥ 25 I

48) In accordance with Dale’s Cone of Experience, which of the following media can help
a student to retain about 30 percent of his learning experience? / ST & B TP
TG & gER, fAafafad & @ #1991 areay T o & 9@ R 3rgug
¥ 30 ufa=ra & gfauta w3 § 7gg o IS 52

1. Youtube / J&Jo
2. Orkut / 3TR&e

3. Google Plus / 3[3aTeT Told



4. Radio / If=zar

Correct Answer :-
« Youtube / J&Jd

49) A doctor uses a for examining the ear of the patient. / Th

STeex WM & S Fi &id 31 & R TP T SUIRT ST 3|
1. concave mirror / 3adel GUUT

2. concave lens / 3ddel o/

3. convex mirror / 3del GUUT

4. convex lens / 3dol o

Correct Answer :-

. concave mirror / 37ddel SUuT

50) The two forces acting on a body which is floating in a liquid is: /
TP avd Uerd § avA arelt 9% W HTH = ardl & 9 3:

1. Buoyant force and frictional force / 3ctelldeh sl 3R gvuT g

2. Gravitational force and buoyant force / W el 3R 3ccards do

3. Gravitational force and frictional force / WQ'UT gor 3R g9 §a

4. Buoyant force and centripetal force / S&dIdd dc1 IR SHfF=fa g

Correct Answer :-

» Gravitational force and buoyant force / W el 3R 3ccards et

51) The characteristic which helps us to distinguish one sound from another
sound having the same pitch and loudness is ./

faxiuar 8 =it 89 a1 " Sk 9919 TR &1 $ATE 91 U t@afy &) 3
@afy A 3R Uga= § Heg Bl B

1. velocity / IaT
2. amplitude / 3TATH

3. quality/?l;I'U'IT:IT-lT



4. frequency/ 3fTgf

Correct Answer :-

. quaIity/UIU'IT:I?lT

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the
mass and velocity are doubled, then find the ratio of the final kinetic energy
to the initial kinetic energy. /

S 'm' 3 TP a3g 7 'v' & 1Y T Wi 391 & qHiaw 3t dedt 21 afe

A 3R A BT ST B faar irar B, af sifaw nfow et oiv emifire wifas St
BT JUTd JTd B

1. 1:8

2.4:1

3.8:1

4. 1:4

Correct Answer :-

53) The pitch of the sound is determined by: /
tafy 3t g g9 grT Auiia o s 8

1. Amplitude / JTITH

2. Intensity/ drgdr

3. Frequency/3—l'l?ﬁ?f

4, Loudness/ Ideldrl

Correct Answer :-

« Frequency/ 3TTgfd

54) The derived unit of the physical quantity, which is the product of mass
and acceleration is: /

W A ) e SHTS, St FTHM SR @RT BT UG 8:
1. pascal / YT&hel

2. newton / o-ZI‘\Eo—-I



3. joule / Set
4. watt / dic

Correct Answer :-

e newton / o-ZI‘\Eo_-I

55) What are the food requirements of dairy animals? /

3 uxpan @Y W sraRgSand @ 32
1. The feed should include roughages and concentrates in balanced amounts /

Qg H AT IRT G AMGT Ud Hlsicll Hgferd JET H gl

2. Fresh green grass /

USRI
3. Mixed feed containing dry grass, grams and other roughages /
T g, T4 3R 3= HieT a1 gad S @

4. Nutritious feed with additives /

TNTST & 1Y UINeh aTe]

Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts /

Qe | AT IRT 8HT 91T Ud Isdl Aferd A& | 81

56) A teacher always introduces the concept of atoms with the same

example.This shows he did not consider: / Td ﬁT&ﬁ? Gﬁ'Q'IT Udh ﬁ 3JaleXul &
Y YRHTU[SAT BT YR &1 U< a1 81 98 fe@mar g fr s A wR
foar =Y foam:

1. His/her student's previous knowledge. / 39 BEF & Usd I

2. The new facilities available to him/her. / 39 foIT o_-lé ﬂﬁﬁﬂﬁ 39cleY gl
3. How to update his/her knowledge?/ 3TTeT @l & 39sc fhar e

4. How to keep all the students attentive? / &Y oAl & divd HE TW?

Correct Answer :-

« His/her student's previous knowledge. / 396 3 & Usd I



57) Which of the following can be used for making students independent

Iearners?/ﬁmﬁﬁmmﬂmﬁﬁwm&ﬁﬁaﬂﬁ%m
foar < 9oar 82

1. ICT resources / STSHIET TATETT

2. Assignment with long answer based questions / G 3T TR 99T &
gryy T I ar R (rISHHT)

3. Quiz / YA
4. Group discussion / W GEI)

Correct Answer :-

« ICT resources / 3TSHIET AT

58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

¥ 2014 7%, et FEfa AT aga TR O A g & R feRa awar 7
1. Tetanus bacteria / ¢ ST

2. Taeniasis / AT (T3ATER)

3. Tetanus toxoid / ecad IFaIgs

4, Tuberculosis / T&HT (qq‘\d{?d\lmﬂ)

Correct Answer :-

o Tuberculosis / T&AT (W)

59) A teacher discusses the difference between textbook theories and current
ongoing research on the same subject. This shows that: / Th a1 T &
v 9 reaqEas F Rqumal AR g 7 g9 @ A F fiT e
W 9t FaT ¥ TE g § R

1. Science is tentative / ﬁ?ﬂﬁ, gaTlaa %’I
2. Science is interdisciplinary / ECEIGARG LN EAEED %’I
3. Science is rapidly expanding / fTa<1eT, Aol & faFdR & @T £l

4. Science promotes questioning / fTaITe, HaTel $Lal I dGIAT ST ol

Correct Answer :-

« Science is tentative / [dAT, TATAT &1



60) Which of the following does not reflect features of a well-developed learning
objective? / AFIfaT@T & ¥ FlT & 3= @ ¥ RAeRAT f&aTH
3gaed Y frwanit F ywe ¢ FaT 82

1. The teacher holds tests regularly. / re1er AT &7 O 9ier 3mafaa
LT gl

2. The teacher performs an experiment before the beginning of a topic. / T1&Th

fordr fawar hr E3NT F Tgel Th YA FHIAT &

3. The teacher explains a law and their uses. / f187h Teh fga 3R 31 39T
&I cITEAT FAT &l

4. The teacher uses a mix of English and the local language in class. / T1&T& &
A 373 3 TANT HTST & AT T IYANET AT B

Correct Answer :-

. The teacher explains a law and their uses. / [1&T& T fATd 3R 39 39IIT
&I SITEAT T &



